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Question Number : 1 Question Id : 3354726231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is the first island district in India? | 9RT &7 W0 £17 AT &9 |71 87

Options :

1 % Daman | &AT

¥ Lonavala | ST
¥ Majuli | T[T

* Kutch | #eg

W

-

Question Number : 2 Question Id : 3354726232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Madhva Pradesh has how many Lok Sabha constituencies? | Heaudar # fra dtgrad fHaf=q 87 27
Options :

1. % 25

o o

M2
W

ty

YN N
Ca

0

Question Number : 3 Question Id : 3354726233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Every year in India, on February 28, the ‘National Science Day’ is celebrated to mark the commermoration of a
well known discovery made by an Indian scientist. Who is he? | IRT H Ucd@ a4, 28 Tadl U, UF IR 19 d=1-F

Options :

1. ¥ ] B.S. Haldane | <&t 08 5ea
2. ¥ P.C Ray | WLH€IY

® ] C Bose | S@taEg

¥ C¥. Raman | @ dt e

L

NS

Question Number : 4 Question Id : 3354726234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which vitarnin contains a metal cormponent? | 19 & i § uw oTg vow giar 87

Options :

1. ® Vitamin E | Befim e

® vitamin & [ Befa T

#® Vitamin C | Eefaa

¢ Vitamin B12 | e ot 12

W

-

Question Number : 5 Question Id : 3354726235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who was the first wornan president of the United Nations General Assermbly? | 3% UF HgadT &1 Uga! Aigal
areaey Wi of?

Options :

1. ¥ Vijaya Lakshmi Pandit | o= sgdt uiga
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2. ® Sarojini Naidu | §HT 915
3. ¥ Lata Mangeshkar | @dT AT
4. ¥ ] Jayalalitha | < Fgdfear

Question Number : 6 Question Id : 3354726236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Tnternational Mother Earth Da?’ 15 celebrated on
F HATAT AT 31

Options :

1. ¢ 22nd April | 22 afd
2. ® 23rd April [ 23 @d
3. ¥ 21st April | 21 aWd
4. % 24th April | 24 s

Question Number : 7 Question Id : 3354726237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The maximurn duration of an ordinance issued by the President of India can be

ST T STTEFTH afarer
Options :

1. ® 6 weeks | € @ATF
2. % lyear [ 1ad

3. ¥ g months | 6 ATg
4. ¥ & months and 6 weeks | € HTg K & YATE

Question Number : 8 Question Id : 3354726238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The name of Inc;ia’s first ingenuOusly bailt submarine handed over to Indian NEW}.F in September 201715
___________ | Tde 2017 H qRd 127 16T B |67 T IR & Uge! gacdl Wiad Tges ! @ A1g

Options :

1. ® NS Arihant | STEUAUS SigT
2. ¥ INS Kalvari | STEU-ue saame
3. ® INS Sindhurakshak | sMEUA0H fEefe®

4. ® INS Vikramadithya | 3TEUA0E @At

Question Number : 9 Question Id : 3354726239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following Acts led to Jallianwala Bagh massacre? | Fiaiad # & forg arférfeem & a5 Aeraiare

Options :

1. ¥ Indian Council Act 1909 | YNG9 Uitgg sra==d 1909

2 % Government of India Act 1919 | 9RT GeFR == 1919
3. ¥ Indian Arms Act 1878 | ARG &7 SMa=ad 1878

4 ¢ Rowlatt Act 1919 | TeiT g 1919

Question Number : 10 Question Id : 3354726240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Cinala T ina Mnactinn Nntian « Na Ontian Nriantation « Vartical
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Correct: 1 Wrong: 0
which of the following is NOT a public sector Bank? | TaRET # & @4 G- 4= 07 d@ "51 57

Options :

1. ¥ Canara Bank | % T d%

2. ¥ HDFC Bank | TaIEGET d@

3. ¥ Punjab & Sind Bank | Wa US & d&
4. ® UCO Bank | g&! <@

Question Number : 11 Question Id : 3354726241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
‘] allikka%cu', which was in the news for some time, isa __________. | S, AT g A & Ty GHER o

Options :

1. ¥ dance form of Karnataka | @-icad & 9cd &7

2. ¥ boat race festival of Kerala | 3%d &1 719 218 cAER

3. % village carnival of Andhra Pradesh | 3Tl WeaT &7 T FTiHae

4. ¥ traditional bull chasing sport of Tarmil Nadu | THA-Tg @7 UEFAiee el el S

Question Number : 12 Question Id : 3354726242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
%o becarme the Chief Minister of Madhya Pradesh after Uma Bharathi? | AT WRAT & o1g 1= T U & T AT

Options :

1. ¥ Digvijay Singh | R&he=a g

2. ¢ Babulal Gaur | ITgdTa 11T

3. ¥ Kailash Joshi | ey st

4. #® Shivraj Singh Chouhan | TR &g ZE=

Question Number : 13 Question Id : 3354726243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which district are the Bhimbetka caves located? | diaeeeT w0 T Forer § e 82

Options :

1. ¥ Raisen | =@
2. ® Sanchi | @t

3. ® Ujjain | 3=

4. % Gumlior | oA

Question Number : 14 Question Id : 3354726244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Pavali Jal Parisar is located at

Options :

1. ¥ Jabalpur | S&@yt

2. ® Burhanpur | sRgHYT
3. ¥ Bhopal | €&

4. ¥ Seoni | T&et
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Question Number : 15 Question Id : 3354726245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the author of Malgudi Days? | IATST 2 & o@® &1 a7

Options :
® RK Laxman | 8T & A&H0T

-

. ¥ RK Narayan | 3T & T

W

# RK Kapoor | T & F

-

# Balaji Subramanium | ST Geguay

Question Number : 16 Question Id : 3354726246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The present district Katni was earlier a part of which one of the following districts? | adA™ Far #et giaias
et # & ToaerT uget & U Toaar am?

Options :

1. % Satna | §a41

2. ¢ Jabalpur | FEwqT
3. ® Rewa | ¥ar

4. ¥ Urmaria | AT

Question Number : 17 Question Id : 3354726247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The famous Dhanushdhari Mandir of Chhatarpur is situated in _____ .| FAYE T U e 6iey
|

Options :

1. ¢ Alipura | S@QT
® Dhubela | e
® Mau | 75

#® Naugaon | F1ia

e

Question Number : 18 Question Id : 3354726248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which river flows in Agar Malwa? | 3T HTAaT H &= &1 9a7 agd 57

Options :
® Narmada | Fdar
® Ganga | T

—

W

# Chambal | ZFed
.+ Chhoti Kali Sindh | $18t arelt R

N

Question Number : 19 Question Id : 3354726249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In which one of the following fields is Kalidas Award not presented by Government of Madhvya Pradesh? |
ot e U TR G FIIeiaIe Qe A5 6aT A1d1?

Options :

1. ¥ Classical music | AT |itT
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M

. ® Theatre | TTHT

L

¥ Visual Art | ZE@AT
. ¥ Poetry | ®idar

N

Question Number : 20 Question Id : 3354726250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The first Indian woman to win an Olyripic medal is

Options :

1. ® Saina Nehwal | 12471 AgaTd

2. ®¥ Mary Komn | B0 &H

# PV Sindhu | 4t =t &y

. ¥ Karnam Malleswari | @R Hearael

w

o

General Maths and General Aptitude

Section Id : 335472174

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472174
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

& fraction F becomes 1 |2 when the num_erator 15 increased bjf 1 and becomes 27 when its denominator 1s
increased by 2. ThenFis: | T FEF F o #aa 1 Fr gy HT AU I a5 1/2 5T FaT 8 SN AT 5C H 3 &l Thgt I AT AT

37 EAETR AIF
Options :
1. ¥ 15/32

2 % 10/31
3. %® 10/29
4 ® gi32

Question Number : 22 Question Id : 3354726252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

A shopkeeper has marked the selling price as 30% above the cost price. Due to suddern increase in dermand he
increases it further by 40% on the marked selling price. His new profi%nexgcenta%e 15____. | T gFGR I
W%O%eﬁwﬁgﬁweﬁﬁﬁm@ ATT H ST Thg o BT AT Sfera Tl W1 40% T ag7 4dT gl a1 JEHT Aa
EICRIGEG
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Options :

1. ¥ 70%

2. % 40%

3. ¢ 32%

4 % None of the above | g0 &S Tg1

Question Number : 23 Question Id : 3354726253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The fracuon 1n the lowest terms is: / f8eeT :1():555 g dH AR %I
Options :

1. ¥ 37713

2 W 13/37

3. ¥ 917259

4 ® 117/33%

Question Number : 24 Question Id : 3354726254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If a2+b?=45. a+b=9. then a-b=7/ TTE aZ+b?=45, a+b=9. dT a-b =7

Options :
1.¥3

2. % 4

3. 85
4 % 2

Question Number : 25 Question Id : 3354726255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Find the average. | & @ &4

64, 48, 14, 55, 24

Question Number : 26 Question Id : 3354726256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two friends, Alak and Aman, live 320 miles away from each other. Alak starts her journey in train at 9 a.m.
and travels towards Aman’s place at 70 miles per hour. After two hours, Aman being unaware of this starts
his journey from his place on train and travels towards Alak’s place at 20 miles per hour. At what tirme will the
two meet? | 31 T8, alF® Ud 8, TF g & 320 S UTT: 9 o & o H SIUT AT & T & 1 AT &
AT 1 31 70 WIS Ui O &1 TR & A7 Fed] Efrag%ﬁna ST 59 a1 © S § ToF oI YeTIS T & A 31 @ S AT
TET 5, % Wid O 20 Hid &1 (0 & =a- a1 gl Terey |A Y
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Options :
1. 1pm

®¥ 1:30pm

M

® 2pm

w

-

® 230 pm.

Question Number : 27 Question Id : 3354726257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The area of a rhombus is 294 sq.cm and one diagonal is thrice the length of the other diagonal. The side of the
rhombu%m___. | T ST Cétawzsacl ot SHT g T g Telut gad Tl T wiveTg T o T g1 FHIa e

Options :
10 V’E

2 ® 11

4 ® 8\'|'E

Question Number : 28 Question Id : 3354726258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which of the following is a prime number? | FgETET § & B9 U@ ST GE4T 57
Options :

1. % 121

2 ™ 78

|

-
f

b 1l
" 181

11
L & ‘5

Question Number : 29 Question Id : 3354726259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Arun and Balaji can complete a task in 10 and 15 days, respectively. They work together for 4 days and leave.
Chetan completes the remaining work in 2 days. In how many days can Chetan cornplete the job individually?

| ST U AT O @ FA 10 gF 15 oAt o qof a dwd 3 F 4 oAt g A d w0 avd ¢ i vl o 8 9w el 2
2 Tomt o ool @t 31 SafdeTd & & =iad fra- foat & @ @t ool @ amre

Options :
1. ¥ 12
2. % 10

4.v86

Question Number : 30 Question Id : 3354726260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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& club has 22 members. Ever‘gf wedar it is planned to increase the membershié) b‘j? S0% Attheendof 3 yedars,
how many mernbers will be there? | U Foid & 32 TG 51 5 o4 Sad! Geeaqdr H S0% i ke we i GiomT 51 3 ool &
3 # Tora geea ghi?

Options :
1. ¥ 458
¥ 108

L

4. ¥ 96

53]

L

Question Number : 31 Question Id : 3354726261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A man travels 3/ 4th of the distance of his journey by bus, 1/6th by rickshaw and 4k on foot. How many kim
does he travel in the entire journey? | U& =ik U1 IIFT ®1 3/ 4 AT a9 &, 1/6 AT egan & ua 4 Tt 0ge aaee 94
AT 21 AU QT Jar H FE foha ﬁm% CEEIC

Options :

1. ® 40km | 40 Tt
2 % 46 km | 46 Tordt
3. ¢ 48 km | 48 Tt
4. % 50km | 50 foEdT

Question Number : 32 Question Id : 3354726262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The respective ratio of the current ages of Pulkit and his wife Shikha is 6:5. After 5 years, this ratio will be 7:6.
If at the time of marriage, the ratio was 5:4, then how many years ago were they married? | Jiedhd T ITH! U=
TSraT T S AT 3T T SIUTT AT 6 0 S 81 S aNl W, 9% STqUId 7 0 6 B S iy oy o qee g euia S 4 91, 1
e felag fora= o ge garm 17

Options :

1 Y 55{&81‘5 [‘] o aﬁ

® 10 years | 10 =
® 1year ) 1o

® o vears | 2 i

[

w

e

Question Number : 33 Question Id : 3354726263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The base of a triangle is 5 units more than h its height. Which of the following expression represents its area? |
TII0T T ST IEET F=Ts h § 5 o S8 51 FEltad # & 19 97 Ug, 399 36 B e td wedr 57

Options :
| % %HSh

M

# hh+5)
® h(h-5)

. Yrh+S
2 Yo(h+5)h

L

Question Number : 34 Question Id : 3354726264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Ifajb = 45, then 2a/3b =7 | Aica/b = 4/5§dr2a/3b =7
Options :

1. % 8120

¥ 8115

[

w

® 20/8
* 158

-

Question Number : 35 Question Id : 3354726265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
V20 + /5=
Options :

—

1 % V25

)

4
et
&

Question Number : 36 Question Id : 3354726266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which one of the following numbers is divisible by 117 | PRI A ¥ F a9 a=T 11 9 99T 87

Question Number : 37 Question Id : 3354726267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many nurmbers between 1000 and 2000 hawve all three numbers 15, 20, and 25 as divisors? | 1000 997
2000 & == # UHT ra-T 9= &, o= 9 § 19 9edrd 15, 20, 25 87

Options :

1. %¢

%5

r

4. v

L

Question Number : 38 Question Id : 3354726268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
& die is thrown once. Find the probability that it is even. | UF U %1 U a1 bl 14T g1 WTH TEI7 GH 947 5, St
TTTeRaT AT )

Options :
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—

® 5ig
Wipe
® 1/3

W 213

W

-

A

Question Number : 39 Question Id : 3354726269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

& car is travelling at a speed of S4km/jh. Find its speed in m/sec. | UF @1 54 T 92T & 7T & I=7 & @18l
Hiet @are o 96! Tid AT F4

Options :

1. ¥ 15 mjsec | 15 et/ dang
® 18m/sec | 18 Hieg/dwrs
¥ 12m/sec | 12 et d@rg
® 20m/sec | 20 Hex/Gave

M

RS

Question Number : 40 Question Id : 3354726270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If the CP of an itern is Rs. 950 and the profit is 30%, then find the SP. | At T a&g @1 %3 Trg 950 201 97 @17
S0% &, a1 T ged 19 F4)

Options :

1. ¥ Rs. 1235 | 1235 #u&
#® Rs. 675 | 675 70

® Rs. 850 | 850 #u

® Rs. 1000 [ 1000 Fu

Mo
2
[
n
[J

w

-

General Hindi

Section Id : 335472175

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472175
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
AT ST U 51 5, FE ST H T -

Options :
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[\_)p—t

4 ® 3

L

Question Number : 42 Question Id : 3354726272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
ST o T 8 |

Options :

¥ e geg T
R e T T

M

0

M

Question Number : 43 Question Id : 3354726273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TH STETE T2 B
Options :

1. %7

2 ®q

w

4 & af

Question Number : 44 Question Id : 3354726274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SE e | -
Options :

ML

® ﬁf-‘g

® CEIG|

W

o

Question Number : 45 Question Id : 3354726275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S e TTAT ST STFT T -
Options :

1. ¥ q

) wa’
3.9
4 R q

Question Number : 46 Question Id : 3354726276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
TSI T AT W H | w I AT e
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Options :

M

L

-

Question Number : 47 Question Id : 3354726277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TRy e UE g A a e arg?
Options :

M

L

-

Question Number : 48 Question Id : 3354726278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A T A ey g A A @A gy
Options :

1. ® gui+mH

2. % gI+TH

(WA}

% gy
4 v gu+TH

Question Number : 49 Question Id : 3354726279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
TAT T AN Jeg Mg H A BT ATE?

Options :
1. v g
W ﬁ.‘m.,

M

L

s

Question Number : 50 Question Id : 3354726280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘T IO & T deg Mg H & I 27
Options :
1. ¢ s

o 8 anTT

Question Number : 51 Question Id : 3354726281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : ()
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‘AT eg H 99 # & &9 a1 97 &7
Options :

M

L

MY

Question Number : 52 Question Id : 3354726282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
TF T F 54T TETe @7 onf g H F T ar g

Options :
1. ¢ AT EHAT

gi "

Question Number : 53 Question Id : 3354726283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘BTaT & gog T g H F #@ A e

Options :

1S
%
:

Question Number : 54 Question Id : 3354726284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

TarTer e werT o g 87

Options :

1 =

V2

-

M2

w

® g

o

Question Number : 55 Question Id : 3354726285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

- &

Options :
1. ¢ 3T SIAER

4

® IO AHBT

w2

NN
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Question Number : 56 Question Id : 3354726286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

I TEEIH e Y - TS
Options :

4 ¥ i

Question Number : 57 Question Id : 3354726287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
N ) o o e e 2 R S B = i T A R A
Options :

M

R o+ o9
I + e
®

S L

T + ST

Question Number : 58 Question Id : 3354726288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Sfeertad uisal # € eived T gt dits &1 gy -
Options :

3. ¥ T ST FITE - I & @I fgrd
T O% <IoT 1T 319 219 919 Haal

4. ¥ Frit 39t T g, T2 Sd |

T |l G2, Gle JT 1T

Question Number : 59 Question Id : 3354726289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct 1 Wrong 0

POk LR
aﬁﬁaﬁﬁsﬁaﬁ T T EaTa
Wmﬁwﬁamﬂmaﬁ@?
Options :

2. ¥ Irag

Question Number : 60 Question Id : 3354726290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

gt geal # & fored faaf &t g7



Options :
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2

w
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Rural Economy and Panchayati Raj

Section Id : 335472176

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: |
Sub-Section Id: 335472176
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per the Expert Group (Rangarajan panel), the estimated percentage of population (all-india) below the

poverty line in 2011-12 was ______. | Terdes |0 (CRTH O & Gatfer, 2011-12 o 7Tt &1 & Al el #1
SHTIT Wi o (SIE-HRa) ol

Options :

Question Number : 62 Question Id : 3354726292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A certificate of utilization of funds at Gram Panchavat level is to be issued by

FT IrTEaT ET EH W ST AT T ST A

Options :
1. ¥ State Government | T4 9@

(L% ]

¥ 7illa Panchayat | T t=mad

L

. ¥ Janpad Panchayat | S-Ug U=ad

-

® Gram Sabha | T 4T

Question Number : 63 Question Id : 3354726293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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who arnong the following CANNOT becorne a mermber of a Zilla Panchayat? | aieed # § @i M tamad @7
TIET AR o aadT 57

Options :

1. % 4 Member of Parliament | &2 &7 G2qa

2. ® 4 Member of Legislative Assermbly | Terer &1 &7 dgq4

3. ¥ Chairperson of a Gram Panchayat | TTH G=Tad &7 STy

4. ® Chairperson of a Janpad Panchayat | Sug U=Tod T STeasy

Question Number : 64 Question Id : 3354726294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is normally the primary objective of a Self Help Group (SHG)? | @T0T & & Fad-agrIaT Gdg (Tauaei) ®T
& IS FAT 87

Options :

1. ¢ To provide micro-finance to groups | U1 @I AGH-HTE-G (GEAT i Ggr=2@Tn T HT
2. ® Toimprove technology of farming | @dT & qa-te H G FCAT

3. ® To provide high quality seeds | 3g TUaaT Tel slfsl ST FHT

4. ¥ To provide education needs | & 8T UE= ®AT

Question Number : 65 Question Id : 3354726295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

At what rate of interest did Madhya Pradesh government disburse short term loans through state-owned
cooperative banks to farmers in 20147 | AT W28 9169 7 2014 H FaE1 & T4 & TdTHed a6 GdTl awl & ATedq
H SAFHTIeIeh FL0T BT e (o &% U a7 217

Options :
1. ¢ 0%
2. % 29
3. % 4%
4 ¥ g%

Question Number : 66 Question Id : 3354726296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Swarna Jayvanthi Gram Swarozgar Yojana is envisaged to be implermented by setting up? | @0 44 TH
TER AT AT # T a0t e maﬁ:air e i O H TS 57

Options :
1. ¥ Large industries | 92 J&NT

2. % small Scale industries | Fi¢ BH UT I
3. ¥ Micro enterprises | s1id &g IET
4. % IT companies | MEel o=

Question Number : 67 Question Id : 3354726297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Under which Act of the Parliament did Mahatma Gandhi National Rural Employment Guarantee Scherme come

into being? | "6 & e ATATER & TT1d AFTEAT T S96 S0 TraigHe Tl T aTH (HETeHT T T8 TTHi TR
T S s ) )

Options :
1. ¥ Mahatma Gandhi Rural Workers Employment Act 2007 | AETGHT Tl T HTHITR ToATR Sifaf=am 2007
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2. ¥ Mahatma Gandhi Agricultural Labourers Act 2006 | HgTeAT Tt Fi s srfafaem 2006

3. ¥ Mahatma Gandhi National Rural Employment Guarantee Act 2005 | FgTAT Tl TP TTHIOT TSR TR
artEraem 2005

4. % Mahatma Gandhi Road Construction Laborers Act 2004 | WgTeHT el @ga TAwfm #eige arféfem 2004

Question Number : 68 Question Id : 3354726298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
National Institute of Rural Developrment & Panchayati Ra%is situated at

UE U=l T O (T AT TeaTe U OelTare T O EeeqT)
Options :
1. ¥ Shimla | T&waT

2. ¥ Hyderabad | §2¥@Tg
3. ¥ Patna | ueAT

4. ® New Delhi | 92 fewal

Question Number : 69 Question Id : 3354726299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Kashi Prasad Pandey Cormrmnittee was constituted in Madhya Pradesh in
CIRIET ] # germam

.| A s | wret vt uie |/

Options :
1. ¥ 1957

Question Number : 70 Question Id : 3354726300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhya Pradesh Sinchai Prabandhan Me Krishkon Ki Bhagidari Adhiniyam (Act) was enacted in ______. !
T U TS Warer H Fuer! @i WTigr artatam (e ______ 7 Tepa T/ am

Options :

1. ® 1967
¥ 1999
® 2003
® 2014

W

v

Question Number : 71 Question Id : 3354726301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Government of India decided to introduce a Crop Insurance Eill and a Model Scheme of Crop [nsurance in

.| 9T OET o B S AT e ST BOe s AT & U@ AT T @ # 3 @ T vt feam
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Question Number : 72 Question Id : 3354726302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0
According to the National Cormrmission on Agriculture, India should have a rminirmuarr of ___________ forest

cover to rmaintain ecological and environmental balance. | FiY @ TP AR & SJHR, TR E o Taiax dgad
AN F TR ARG S FA ST ____ I AT AT TR

Options :
2. % 48%
¥ 33%

L

® gy

=

Question Number : 73 Question Id : 3354726303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the term of Panchayati Raj institutions? | TETdT T &=t & st fra-r 27

Options :

1. ® 3years | 3¢
2. % 4years | 4 a9
3. ¥ Svyears | Say
4 ® gyears | 6ay

Question Number : 74 Question Id : 3354726304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Wwho will maintain the records at the Gram Panchayat level? | TTHIT TETHd 0 UT STHeET BT TE- @1 Hie H?

Options :

. ¥ Gram panchayat secretary | WH U=ad died
® sarpanch | U

¥ panch | 7=

=

M

v

e

® Upsarpanch | 37 a¥u

Question Number : 75 Question Id : 3354726305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where in Madhya Pradesh is the production unit of National Fertilizers Ltd situated? | A& s # S84

HICATEAE elTHCS I WISdd Jivie Fgl T a7

Options :

1. ® Singrauli | MR

2. ® Morena | g1

3. ¢ Vijaipur | ST
® Nagda | ammaT

e

Question Number : 76 Question Id : 3354726306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
For which of the fOllOWiﬂg 15 assistance NOT awvailable to landless agriCulturall workers under Mulkhya Mantri

Mazdoor Surakhsha Yojana in MP? | wed ugsr # aieiad # € &9 o agradT geau=T Aege GeaT a1 & siamid gge
Fit sifient & g Iumes 751 27

Options :
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% Scholarship for eligible children of workers | Ai#®! & Ut agf & @0 g
# Marriage expenses | &g =9

#® Medical expenses | Rritrear =

4. ¥ Expenses for buying TV & Fridge etc. | it oY T anfe @eie & oy ==t

Wwor e

Question Number : 77 Question Id : 3354726307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Wwhich of the following was envisaged as a single window knowledge resource centre to provide information on

MGNREGA? | AT & o B @ & & 017 570 & Tofel Uehet Toa T Aiei (eard ey & e § U T TTIT?
Options :

1. ¥ Department of Rural Development [ TTHT faeme f&wmT

2. ¥ Panchayat Office | v=ET FHEiaa

3. ¥ District Collector's Office | wmeftsr @7 Faia

4. ¢ Bharat Nirman Seva Kendras | 9Ra f-aior @ar dg

Question Number : 78 Question Id : 3354726308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who publishes ‘Indian Journal of Agriculture Sciences'? | 'SiEa F-d SATE THTHeot GECT @1 & TH8T Feal 57

Options :

1. ¥ Indian Council of Agriculture Research | Ei&a #1316 H1E Ui o
2. ® University of Agriculture Sciences | giHaider STk Tiiidear aEad

3. ¥ Agriculture Development Corporation | Uiieeat SaauHe HTa¢T

4. ¥ Ministry of Agriculture | TTAEET 3iTF Titdeat

Question Number : 79 Question Id : 3354726309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

which of the following is NOT a mandatory function of a Gram Panchayat? | THaATAET # & @19 |7 77w v=mad &
3TTame @ ARl 87

Options :
1. ¥ Sanitation | He=gwdr

2. ¥ Drinking water | U e
3. ¥ Small scale industries | @9 J&IT
4. % Maintenance of village roads | THIT GS@! @7 TETETT

Question Number : 80 Question Id : 3354726310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
What is the suggested timeline to select the Adarsh Grarm, once the Saansad Adarsh Gram Yojana is launched

in the constituency? | IA7d 5= § G76 AMgd U0 THT 3F F4 & o8, Y U ®1 g & Ty Gl e arate g 87
Options :

1. ¥ 3months | 3 A

2. ® g months | 6 A5

¥ 1month | 1 AT

® 12months | 12 A5

L

-
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Computer Knowledge

Section Id : 335472177

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472177
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SMTP stands for: | SMTP #Tdwe0d &

Options :

1. # Simple Message Transfer Process | Tqua #8 giawe Hrad
> ® Simple Message Together Protocol | Wﬂﬁ?wm
3. ® simple Mail Transfer Process | THue 8¢ gEGT WHE

4. ¥ Simple Mail Transfer Protocol | Tqua #& ZTEw WiTimTe

Question Number : 82 Question Id : 3354726312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which of the following is NOT a malware? | FHT # & &9 0w Ao "5l 57

Options :

1. ¥ Worms | 918
2. % Virus | amgeq
3. ¥ Cookies | e
4. ¥ Trojans | g+

Question Number : 83 Question Id : 3354726313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The value of a Terabyte is: | FEE FTAF &

Options :

1. ¥ 1024 Petabytes | 1024 UeTaEe
® 1024 Megabytes | 1024 AR
. ¥ 1024 Gigabyte | 1024 TieETse
¥ 1024 Kilobytes | 1024 TratamEe

[0

]

s

Question Number : 84 Question Id : 3354726314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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In MS Excel, the result value either "TRUE' or ‘FALSE’ is available in which one of the following functions? |
T TFEa H, TROTE a@TE qqa” 51 91 e, e 6 T teree f Sudey ST 27
Options :
1. ¢ Logical | @Trada
2. ¥ Arithmetic | spfafew

3. ® Algorithm | Uiy
4 ® Logarithm | &miem

Question Number : 85 Question Id : 3354726315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What does the symbol "0 indicate in MS Excel? | UAUH Uored H U i@ "0° T o Fedl 57
Options :

1. #¥ Greater than or equal to | & ==T T 5HF e

2. ¥ Less than or equal to | & &H 2T aXT&T

3. ¢ Auto sum | T@T T

4. % Date | TaqTw

Question Number : 86 Question Id : 3354726316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is an Internet browser? | AT & & ®19 UF et o131 27

Options :
1. ® Windows explorer | T2 THAGART

2. ® yrww. google.com | www.Zo0gle.com

3. ¢ Internet Explorer | $et¢ THATHART
4 % Taskbar | TH® a1

Question Number : 87 Question Id : 3354726317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Abbreviation www stands for: | G5UT wyww BT 009 &

Options :

1. ¥ Windows Web Wan | He daaa

2. ¢ World Wide Web | adig a5 dd

3. % World Windows Web | Trig Heiw aa
4. % world Wide Wave | ddis d158 dd

Question Number : 88 Question Id : 3354726318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

A& program that infects other programs by modifying thermn is known as: | @g WA ST 34 TTHT H S&67Td Fd
TR B 2dT 5, PEA &

Options :

1. ® Search Engine | & g9
2. % Antivirus | GeramEd

3. ¢ Virus | amEed

4. ® Cyber crime | 95X #EA
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Question Number : 89 Question Id : 3354726319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which cormrnand is used to hold row and colurrn titles in place 50 that they do not scroll when you scroll a

worksheet in MS Excel 20077 | UAUE Ugdd 2007 H, Ul 727 qa9 & St @1 39 g of 67 @ & By, aiie o
a&sﬁtaﬁﬂwmﬁwwqﬁ ﬁmmwwﬁﬂaﬂ%%‘?
Options :

1. ® arrange all command on the view menu | g3 A T T Td
. ¢ freeze panes command on the view menu | 2 77 U 1B 06 HHIE

[

# alignment cormmand on the home menu | B 87 I TAEHE FHIS

W

-

® filter command on the home menu | §1H B W et FHIS

Question Number : 90 Question Id : 3354726320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

How many different positions can }.FOU. set for drop cap in MS Word 2007 Exclude “None position”)? | THIg a2
2007 #, snu;ﬁtr%q%%m aa%%‘("q:ruﬁeﬁw T FIST?

Options :
1. %1

Question Number : 91 Question Id : 3354726321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
A computer in a network cannot be accessed outside of the local network unless given permission is called

_______ | FTad § FHUEY Al oo o SIgl a9 g URad gl [T A1 G 5, e dd 1o ______ @ A 7 & S
Options :

1. ¢ Intranet [ sTT

2. ® Internet | eeAT

3. ¥ Middleware | TfEaee®

4. ® Modem | HlgH

Question Number : 92 Question Id : 3354726322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The rminimurn number of rows and colurmns in a table in MS-Word application is: | TAUE 92 Uq@ e # dikat
ToT G 1 AT ST R 5

Options :
1. ¢ 1x1

® ox1
® {x2
® o2

[

8

s

Question Number : 93 Question Id : 3354726323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
What is the use of Print Preview in MS Word? | TAUd a2 # i g T &7 S0 57

(Intianc -
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% Save the docurnent | SIHgHT ®I TET HEAT

# Delete the docurment | STFgHe & e

® Copy the document | SIFgHT ®I T HCAT STHHe

4. ¥ View how the document will appear when printed | g &&-T for g e W Siergd drar

Wwor e

Question Number : 94 Question Id : 3354726324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
____________ is the full form of Wi-Fi. | Wi-Fi &7 quf &0
Options :

1. ¥ Wireless focus | TRRHAT Bled

2. ¢ Wireless fidelity | arerod hafeer

® wired fidelity | amag 2iwar

% wired focus | T8

w

g

Question Number : 95 Question Id : 3354726325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following memory is volatile? | THHARET # & F19 9 AAT giead 991 gial 57
Options :

1. vV RAM

2. % ROM

3. ®¥ PROM

4. ¥ EPROM

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 96 Question Id : 3354726326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The bar which shows your current status in the docurmnent is called _____ | T R A SiagHe # AT ad A deed
ot s, CECICIN
Options :

1. ¢ Status Bar | §eed O

2. ® Standard Bar | 9222 a
# Format Bar | BiHe I

¥ Title Bar | T a)

RS

Question Number : 97 Question Id : 3354726327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

& use%”1 can directly access a website through _______, | I JUITRAT _____ & T ¥ Sed15e & diel e &
LiCT]

Options :

1. ¥ URL

2. ® Search Engine | &=l g9
3. % WRL

4. ® Fire wall | BT ald
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Question Number : 98 Question Id : 3354726328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Hard copy is a term used to describe: | “g12 141" g F1 U 56 URATNT ®t o oy fopar Jam g
Options :

1. ® Storing information on the hard disk | g8 2% W a1 92 &

2. ¥ Printed output | Ties amsege

3. ¥ Writing on a hard board | 12 918 W Toa

4. % None of the above | JUIFd ®1s U Ag1

Question Number : 99 Question Id : 3354726329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which tool is used to join sorme cells and place the contenit at the rniddle of %c;i;ed cell in MS Excel 20077 |
THUE UFde 2007 ¥, B 9ol B i o tde o JS1 g2 O o 7o # T8 o 6y T gl o1 Ui T S 7

Options :

1. #® Right Click on Center icon on alignment tab | UATETHE oa & HeT ATZHI- UL TEE TFord

2. ¥ Right Click on Merge and Center icon on alignment tab | TATEAHE ¢d th Hl Ug 9 ATEHT U TS [dord
3. ¥ Click on Center icon on alignment tab | UATETHE 2 o HeT TEHT UL TFord

4. ¥ Click on Merge and Center icon on alignment tab | UATEAHE 2a & Hl Ud et TSH 1 UL el

Question Number : 100 Question Id : 3354726330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used to paste the copied or cut portion from a document into another docurment in MS-

Word 20077 | THIE &2 2007 H, Ud SiagHe § BT AT & 07 77 9T @1 3 Siagie § ueqe # & #y e 4 9
B ST FHl 0 BT 27

Options :

1. ¥ CTRL+C
2. ¥ CTRL +V
3. % CTRL + ¥
4 % CTRL+N



